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2.) Are the following polynomials2 Write yes/no and provide a reason.

O)Q(X) = x3 + 2%x2 — 5x L@QS b_) f(x) = g—i- \/\O‘ X i(\‘\"’bQ-
¢x
cIh=xi=20+2 (oS d) hix) =x3-2x+7 (O M@Cd\“@,

3.) Write the definition for the words below. Use the example to describe the polynomial.

DEFINITIONS (Ex) f(x)=-5x5-3x3+4x2-x +12
» Degree: V\(@MS% Q-X‘M 5
e Lead Coefficient: \UMI0~ V) QYD(IJC of \$+ “e”fﬂ -5

e # of Terms: oot (S WM \O‘gc—"w 7 5
 « #of Possible Zeros SAML. 0D dwg dﬁﬁgf& ®
#--ofTums: o, WSS dvian OQ-QQ/\V-&Q- Ll" ¢
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Perform the operations on the following polynomials.

L) -2(5% = 30 + 4x2 X +12) - 3(xé — 250 4 2 —7x +5)
O G VSRR R I e
B o o2y —‘?ﬂ

P.) (9x4—2x3 + x2 —16x +2) + 2(x4 - 3x3 + 2x2 —9x +10)
e 22X (bX+2 + 22X oy 2 NV ARK +20

uﬁ- BRZ + x> 24 x\_kzzg
—'%'-——-—-‘._____L

6.) Use synthetic division to solve the following polynomials.

a.) 53 + 21x2— 21x - 5 using (x+ 5) P.) X3 X2 - 22x + 40 using (x —4)
sl 2 o 4| -1 -22 up
V> .20 .5 b vz
0] |
(N

Y no - -
eovaindoy” m

b) 3x2y6 + 10x7y6 — 12x12y°

Dk ID @Z\(r};aiwl:

mplify the following.
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9.) Factor & solve these using Factor by Grouping.

Q)= 32K 6x—18F0 0.0 - 4x2f 4x + 160 )t + 2 |
¥2(x-2) +o(x-3):0  XZ(x-4)-4(x-4)=0 x?—((ﬂ?—-ﬁég# -
: S J e MD(X=-a)=0
(x-2)(%*+0) =0 K- (x2-4)= 0 &)= (

S b Y-t ) (X-2 = s
MED O E ¢ 5 5(**'73 & X472-0 %t3:0 %X-3

Bl a0 Y40 W0 XD 8
g | T
D] el bezl B2 ’

Graph the following polynomials

@0.) Plot 5 points (-2, -1, 0, 1, 2) and use end behavior.

e\

a.) g(x)=x3+21>:j: pfjﬁ’e\ﬁ‘ b.) 9(X1='X4+X+\ 23:(‘\% \L\L |
T TR <1 e
f e
: el :

MA@
7 J’ l il < ~ - ) KD
= \ 4 4
|~ B EIE] e
& I
5 IS
x +H

<
w
=
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